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1. [Edexcel, 2015] Ratio [2 Marks]

In a school, there is a total of 640 children.
The ratio of the number of girls to the number of boys is 7 : 9

How many boys are there in this school?
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2. [Edexcel, 2014] Ratio [2 Marks]

In the 2012 Paralympic Games, the total number of gold and silver medals won by Brazil
was 35

The ratio of the number of gold medals that Brazil won to the number of silver medals
that Brazil won was 3 : 2

How many silver medals were won by Brazil?
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3. [Edexcel, 2006] Ratio [2 Marks]

Rajesh and Gudi share some money in the ratio 2:5
Rajesh receives £240

Work out the amount of money that Gudi receives.
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4. [Edexcel, 2016]

Ratio [4 Marks]

Rafael and Roger played tennis against each other 30 times.
Each of the times they played, either Rafael won or Roger won.
The ratio of the number of times Rafael won to the number of times Roger won is 7:3

(a) Work out the number of timﬁg_éﬁf&e] iwon.
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In a school, there are 75 girls in the tennis squad. 7
The ratio of the number of boys in the tennis squad to the number of girls in the tennis
squad is 4:3
(b) Work out the number _o_f{lz-)oﬁ in the tennis squad.
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5. [Edexcel, 2013]

Ratio [2 Marks]

There are 20 students in a class. ' o
12 of the students are girls. —- 0. U SO

Find the ratio of the number of girls to the number of boys.
Give your ratio in the form » : 1
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6. [Edexcel, 2013] Ratio [2 Marks]

Green paint can be made by mixing yellow paint and blue paint in the ratio 2 : 3
Wendy makes 15 litres of green paint.

Work out how many litres of blue paint Wendy uses.
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7. [Edexcel, 2014] Ratio [6 Marks]

A school has 840 pupils and 40 teachers.

(a) Find the ratio of the number of pupils to the number of teachers.
Give your ratio in the form » : 1
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In Year 11 at the school, the ratio of the number of pupils who study Chemistry to the
number of pupils who study Physics is 3 : 2

(b) 105 pupils in Year 11 study Chemistry.
Work out the number of pupils in Year 11 who study Physics.
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For the 105 pupils who study Chemistry, the ratio of the number of boys to the number of
girlsis 4 : 3

(c) Work out the number of girls in Year 11 who study Chemistry.
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8. [Edexcel, 2011] Ratio [3 Marks]

The perimeter of a triangle is 90 cm.
The lengths of the sides of the triangle are in the ratios 3 : 5:7

Work out the length of the longest side of the triangle.

A oM S
3 y 5 1(\:!(/) (§
I W
LoNGEST A0 cm

—[10 <& (3 =42 d

oné KT



9. [Edexcel, 2009] Ratio [3 Marks]

Carlos mixes cement, lime and sand in the ratios 1 : 2 : 9 by weight.

Work out the weight of cement, the weight of lime and the weight of sand in 60kg of the

mixture.
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10. [Edexcel, 2008] Ratio [2 Marks]

Bronze is made from copper and tin.
The ratio of the weight of copper to the weight of tin i§ 3 : 1 L(‘ \OA"QTS

Work out the weight of copper in 280 grams of bronze.
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11. [Edexcel, 2015]

Ratio [3 Marks]

Pritam, Sarah and Emily share some money in the ratios 3 : 6 : 4
Sarah gets $15 more than Emily.

Work out the amount of money that Pritam gets.
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12. [Edexcel, 2008] Ratio [4 Marks]

(a) Philip and Nikos share some money in the ratio 3:4

Nikos receives £24 (m ‘)
Work out how much Philip receives.
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(b) James and Suki share £40 in the ratio 3:5
Work out how much Suki receives.
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13. [Edexcel, 2014] Ratio [4 Marks]

The ratio of Mark’s age to Reeta’s age is 3 : 5
Mark’s age is 24 years.
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The ratio of John’s age to Zahra’s age is 1 : 4
The sum of their ages is 45 years.

(a) Work out Reeta’s age.

(b) Work out Zahra’s age. By
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14. [Edexcel, 2005] Ratio [6 Marks]

Two fruit drinks, Fruto and Tropico, are sold in cartons.

(a) Fruto contains only orange and mango.
The ratio of orange to mango is 3:2
A carton of Fruto contains a total volume of 250 cm®.

Find the volume of orange in  carton of Fruto. P " i
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(b) Tropico contains only lemon, lime and grapefn'iﬁ'.___

The ratios of lemon to lime to grapefruit are 1:2:5
The volume of grapefruit in a carton of Tropico is 200 cm?.

Find the total volume of Tropico in a carton.
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15. [New Question, by Maths4Everyone.com] Ratio [2 Marks]

On Trisha’s bookshelf, the ratio of paperback books to hardback booksis 5 : 3
The number of paperback books that Trisha has is 130.

(a) Work out the number of hardback books that Trisha has.
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The 130 paperback books are split between fiction and non-fiction in the ratio 2 : 3

(b) Work out the number of non-fiction books.
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16. [Edexcel, 2009] Ratio [4 Marks]

Last year in Mathstown High School, the ratio of the number of candidates for
IGCSE mathematics to the number of candidates for IGCSE biology was 5 : 2
The number of candidates for IGCSE mathematics was 80

(a) Work out the number of candidates for IGCSE biology.
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The 80 mathematics candidates were divided befween Foundation and Higher in the

ratio 1 : 3

(b) Work out the number of Foundation candidates.
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17. [Edexcel, 2007] Ratio [2 Marks]

In 2004, the ratio of the number of planes in Air China’s fleet to the number of planes in
Malaysian Airlines’ fleet was 6 : 7
There were 72 planes in Air China’s fleet.

Work out the number of planes in Malaysian Airlines’ fleet.
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18. [Edexcel, 2015] Ratio [3 Marks]

Lisa, Max and Punita sha1€£24a:i{n the ratio3 : 4 : 8 - H“S (8§ 1he T8

How much more money than Lisa does Punita get?
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19. [Edexcel, 2016] Ratio [3 Marks]

The lengths of the sides of a triangle are in the ratios 2 : 6 7/
The length of the longest side of the triangle is 24.5 cm. R_

Work out the perimeter of the triangle.
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20. [Edexcel, 2004] Ratio [3 Marks]

Plumbers’ solder is made from tin and lead.
The ratio of the weight of tin to the weight of lead is 1:2

(a) Work out the weight of tin and the weight of lead in 120 grams of plumbers’ solder.
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(b) What weight of plumbers’ solder contains 25 grams of tin?
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21. [Edexcel, 2007] Ratio [3 Marks]

Anji mixes sand and cement in the ratio 7 : 2 by weight.
The total weight of the mixture is 27 kg.

Calculate the weight of sand in the mixture. @
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22. [Edexcel, 2013]

Ratio [3 Marks]

Jack, Kate and Lila share some money in the ratios 5:9: 6
In total, Jack and Kate receive £56

Work out the amount of money Lila receives.
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23. [Edexcel, 2015] Ratio [6 Marks]

Flaky pastry is made using flour and fat in the ratio 9:7 by weight.
Cassie makes some flaky pastry.
She uses 175 grams of fat.

(a) Work out the\weight__of ﬂoui‘ECassie uses.
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Sweet pastry is made using flour, fat and sugar in the ratio 27:14:9 by weight.

Luke makes some sweet pastry.
The total weight of flour, fat and sugar he uses is 400 grams.

(b) Work out ﬂlﬂ[‘}’%ﬁt of flour) Luke uses.
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Elisha makes some flaky pastry and some sweet pastry.
She uses theLme welght of flot flour (f01 the flaky pastry as she does for the sweet pastry.

(c) Work out the ratio of the weight of fat she uses in the flaky pastry to the weight of fat
she uses in the sweet pastry.
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24. [Edexcel, 2014]

Ratio [4 Marks]

Mortar mix is made by mixing cement, sand and quicklime in the ratio 1 : 2 : 3

(a) Work out the volume of sand needed to make 2.1 m* of mortar mix.
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Julie has 0.75 m* of quicklime.
She has plenty of sand and cement.

(b) Work out the greatest volume of mortar mix she could make.
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Disclaimer

While reasonable endeavours have been used to verify the accuracy of these solutions, these
solutions are provided on an “as is” basis and no warranties are made of any kind, whether
express or implied, in relation to these solutions.

There is no warranty that these solutions will meet Your requirements or provide the results
which You want, or that they are complete, or that they are error-free. If You find anything
confusing within these solutions then it is Your responsibility to seek clarification from Your
teacher, tutor or mentor.

Please report any errors or omissions that You find*. These solutions will be updated to correct
errors that are discovered. It is recommended that You always check that You have the most up-
to-date version of these solutions.

The methods used in these solutions, where relevant, are methods which have been successfully
used with students. The method shown for a particular question is not always the only method
and there is no claim that the method that is used is necessarily the most efficient or ‘best’
method. From time to time, a solution to a question might be updated to show a different
method if it is judged that it is a good idea to do so.

Sometimes a method used in these solutions might be unfamiliar to You. If You are able to use a
different method to obtain the correct answer then You should consider to keep using your
existing method and not change to the method that is used here. However, the choice of method
is always up to You and it is often useful if You know more than one method to solve a particular
type of problem.

Within these solutions there is an indication of where marks might be awarded for each
question. B marks, M marks and A marks have been used in a similar, but not identical, way that
an exam board uses these marks within their mark schemes. This slight difference in the use of
these marking symbols has been done for simplicity and convenience. Sometimes B marks, M
marks and A marks have been interchanged, when compared to an examiners’ mark scheme and
sometimes the marks have been awarded for different aspects of a solution when compared to
an examiners’ mark scheme.

B1 - This is an unconditional accuracy mark (the specific number, word or phrase must be seen.
This type of mark cannot be given as a result of ‘follow through’).

M1 - This is a method mark. Method marks have been shown in places where they might be
awarded for the method that is shown. If You use a different method to get a correct answer,
then the same number of method marks would be awarded but it is not practical to show all
possible methods, and the way in which marks might be awarded for their use, within these
particular solutions. When appropriate, You should seek clarity and download the relevant
examiner mark scheme from the exam board’s web site.

A1 - These are accuracy marks. Accuracy marks are typically awarded after method marks. If the
correct answer is obtained, then You should normally (but not always) expect to be awarded all
of the method marks (provided that You have shown a method) and all of the accuracy marks.

Note that some questions contain the words ‘show that’, ‘show your working out’, or similar.
These questions require working out to be shown. Failure to show sufficient working out is likely
to result in no marks being awarded, even if the final answer is correct.

* The best way to inform of errors or omissions is a direct Twitter message to @Maths4Everyone




